IV' CAREERINDIA

SET — 4
Series : SGN/C A 40
Code No.
T Tlteteff whre Wi STH-YEeh1 & TE-T5

T o7 |
Candidates must write the Code on
the title page of the answer-book.

Roll No.

®  HUA A B o 30 THA-TF H Yfgd T3 12 F |

® T¥-UH H Gife 81 <hi 3R 6T 1T i TR ol BT IT- TRl < JE@-T8 W ford |
o HUATSATE B b 39 TH-TAH 12 TRAE |

YT IR HI I TG Y& F1 A U5, T I shHih 3wy ford |

o 3T WI-UA I UG o fIT 15 fire o1 Tm feorm o B | s -ua ot foatr gate | 10.15 S
ToReT SIT@ 1 10.15 1 @ 10.30 &1 T B hddl TH-TH I Ui 3T 39 7T o gRH o
IA-YGTehT T HIg I Tl for@ |

e Please check that this question paper contains 12 printed pages.
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IV' CAREERINDIA

Frcam: FHATHIE GITT FoAHGRI, GEFA-d AGHIN |
frdwr - 581 G 7 &, T&T ¥ o] & I Gepa 4 & o7 |
Instructions : Answer all questions in Sanskrit, unless instructions are given otherwise.

31T 9777 TR GUET: T |
FHYH-TA IR GUE & /

There are four sections in this question paper.

g h TSI — TSI (TSI — TaaeT) 15 ITSHI:

Section A : (Unseen Reading Comprehension)

fCLCthC I G TEHTheTEH (HEhd | T @) 15 JgHT:

Section B : (Writing Skills in Sanskrit)

ug: T TfSaTsT — SFEIge TEehadT e T = 40 + 10 = 50 ST
(AfSATT — STeEIY Td H&hd Hifecd Gi=)

Section C (Reading Comprehension & Introduction to

History of Sanskrit Literature)

ECL o B TRISAGN: (HE T TAFN) 20 JTH:
Section D : (Metres and Figures of Speech)
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IV' CAREERINDIA

@UE: & (Section A) 15 JTGHI:
SafSareT — ST
JrafsarsT — Jrase

Unseen Reading Comprehension

FUTARGTH ITT=egd TSl TG T H&ha- 3 |

frerferad QR sgeeal i Teeht fu T Sl < 3T Eephd H G |

Read the following two passages and answer the given questions in Sanskrit.

(%) wum: AT

I oA DR -TVSSAHE HETHRA ATHh g, TRWHTIH T, qeT 3T

g Tte Sraa a1q vergd = areeE:, fenfir eee |t 3 @q gae:
wigsaf=r | 3 a@ T Igrg foxfa: demar | ggAfd 7 wgq &: ITAiswaq |
I HEnEd™ g eui e sfiewn qq wdemmnig, Ufq Ad wmeed
FAHTATANH IUCY CqaM | 3 Iuey: o Afiweweg Midar wead | 3w f8
TEWRAE STNQ: | U Yoish WV 3R 3TA1G: TR | Yeish S
AT STavEHe qeHTaT |

BLZIE
(3) THUCHRA | Vix2=1

Th 9o H I T |
Answer in one word.
() o orgd Fdiferaar
(i) : IgIg foxa: |grma: ?

(&) YoTaTRHRa | 2
ot SR H 3T AT |
Answerin a complete sentence.

(|)  FATeRT | Yx4=2
FTHCY 3T ST |
Answer as directed.
(i) ‘T IATE: SIS “IAT:” 3id TS HE) TR ?
(i) gee:’ s fh yafeey 31 WY ?
(iii) e g fmTeE hejr fopy 7
(iv) T’ s foh faretmedes uey 3t weay ?
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(@) fod: og=sye:
Fe1 Tfd AE: ST, aXael T qed qomel g 99 TETT | SemT
e HUH, I T, T T WA Gfe: | TG TG F: T Fel
THEHT TAMT 311 T Tesfd @, 7 f& vwfar wn @ fam: s mfq | w
3 ¥: HivgETon Fe fauam o7 F1 I TR S FaEesRTd ¥ -
wateeh T THe: | qofd AaEyed IRl gid forr uefer e e
TANEY: AT o HICHHA ATHEUY GROGH | T TATgem- ST Tdaey
AT | Iq: 79 TS T §E0T 9 . Heded SHTEEET, 3

TN | Taed R0 g favaes Srefaerar: Feiaey feshfedr: |
T
(31)

(W)

(®)

()

THICARA |

Teh 1 § IR T |

Answer in one word.

(i) AT HuT fvegor aw ?
(ii) IR gher: o aiteTeRT ?

qufaTER |
ot e B 3T T |
Answer in a complete sentence.

BICIEEESRIE :I?ﬁﬁ%g% Torpfear: ¢

FTfEIgad |

ey IR G |

Answer as directed.

() Tafd @’ 3fd framem wdug feg ¢

(i) ‘I e fersrol forg 7

(i) ST o T o wareden 31 T ¢
(iv) T 3id FEATIG HEH S, ?

3T SITSGH Tl TG e H&haA (o1 |
39 3TITOG o 1T ITYeR 319k &hdl H fATET |

Write a suitable title for this passage in Sanskrit.

4
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1x2=2

1x4=4
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IV' CAREERINDIA

@Uve: @ (Section B) 15 A
FEHA TEATTRAETH,
A | T AET
Writing Skills in Sanskrit
T Sreaegehd e STUTRadT sher et 94 fore | 1x10=10
TS § 3fd Hehd oteRt ffetia sherm st qurest g4: fafa |

Complete and rewrite the following story, with the help of the words given in the box

below.

AT

90 SRR (G U oIS qega: (g5 | T Sk HIeT 3w, Y
Qi Q—W: (iif) ﬂ—@q hlcd ITTA T T | (iv) E m: v) | 5l

TG TSI T S () | a1 SO ke B () @

ST | T8 G~ (yppp) @ A ST (g A | AR g9 3

et W) = A | iy T i e G et AT, R S 1 FE |
HeS[a

&, TeTeRIde, aTL:, Thl, 314Ted, I | EaiTdl,

foretrer, atmefiq, |mehy |

HoquTa: veT e ‘aegmfa:” 3fa fowem stferepey wear arernfy wwshc forad | 1x5=5
HoSNT ¥ U¢ Rt HeEid’ 39 forva W i 1o §5hd | fTRa |
Write five sentences in Sanskrit describing ‘@edTfd:” with the help of the words given

in the box below.
Hoo T

T, g, Ham, oM, QST fedenriott, e,
BTSRRI, TS, Shie:, STy, 3Efd, B, deia |
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IV' CAREERINDIA

@us: 7 (Section C) 40 + 10 = 50 STHT:

Tl STaEE HEhaTeee IEd: 9
TfSATT-STaEIEH UF H6hd Aiecd aied

Reading Comprehension & Introduction to History of Sanskrit Literature

FUNTARGT TG, TG, ACAT = TS TG T FEeho I |
frfaRaad aeg e qe ATt i Ugeht fCT 7T T < ST §&hd H ST |

Read the following verse, prose and drama passages and answer the given questions
in Sanskrit.

() W=
FreuitH=sharysion
FITG P Toed |
T FHSTTHTS
AT TR ||
TRAT
(31) THICHHA | Vs x 2
T e 1 ST T |
Answer in one word.
() : Pl 3 ?
(i) <hIge TH AT Y 7
(9) YorETERARRA |
ot a1 § JR G |

Answer in a complete sentence.

T Shigered T g=sf ?

=1

(F) - FATHCE | 1x2=2

T 3T AT |

Answer as directed.

() ‘=R s T b wartaden o1 ey ¢
(i) ‘T’ g b ferodicoey, 31t SRy 7

6
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IV' CAREERINDIA

(@) T

()

TIee: Tetd ¥ T8 IR wawisE’ st wwem s qieelt Wt wmetee | 3%
Tl yehTeT-1q HedT SHeHuT TSHEHIGR 34 39 IR-fuer s=fadisyay |
Tfguft sofeefioy ST StEeq — “SFURRsta MY @Havem, fheg gyad
ST T YA |7
JAT:
(37) THIARA | Yix2=1
T 316G § I EIT |
Answer in one word.
(i) o1 IM: 3T ?
(ii) TR %: yfers: ?
(F) qolETRARa: | )
oot e | I T |

Answer in a complete sentence.
Frremt yepTarRrq 318 fopmef waifera:
(@) I | 1x2=2
JTHHET I T |
Answer as directed.
() T sore 1 factmuey om wywm 7
(i) ‘T’ g 5 vatauey 3 ygwY, 7

AT

§E: — PAR | PAR ) IWAISYE 30 IS vafaet  SHUCSITAR,
HISTAAYAISTTN: T8 FeA&fieha: |

G — ITEISYS 3T AT TSHETTR ST < UG, qd S hig ?

qed: — 3T A —
TEdeS dafd fage a= gl ey grefiE: ¥ watd, G I@r
T | T, Wil IehfcveRMEHEH R SmedStd, w
it . |

¥

(31) THYSHRAA | Vax2=1
T g T I ST |

Answer in one word.

(i) wgh: foh seaefiera: ¢
(i) W QoA ?

7 cn
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(9) YoiETRARRA |
oot areRy | I G |
Answer in a complete sentence.
F2i: ST HIgy qUH Telleh Had, 7
(@) I |
FTHER I T |
Answer as directed.
(i) ‘a3 T T3 vateens ygey ?
(i) “Frepen’ sae Toh faaTmaers wgeay ?

SegT Berteat forad |

Sregt b1 7T A firer o ferfla |

Match the words with their meanings and rewrite the same.
RIEHE Fyt:

(1) Ufgamm (i) wTerhies

(9) weammiufash (i) IFwErE

(@) 9efere, (i) FITOTH

(7) @ (iv) gRUTTH

LT GhAuer Y SRARHTT e |

TETfEehd Ugl o SMER W Ie fmior Hifvw |

Frame questions on the basis of the underlined words.
(i) 9 3YeTeey: | Jwetehi Ffyaa-: |

(ii) 38 HHIOT o 37 FAT: FoFofiferd |

(iii) T JGEH TGf |

(iv) Terafd = qeuq ey fawy |

IV' CAREERINDIA

1x2=2

Yax4=2

1x4=4
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IV' CAREERINDIA

FLARGTHTETT: FEaeermyfd FesuTICHaTaqa e : Yax12=6
fraferRaa QT wramert & s # feu MU vreqi <t wETerar | e v <6 gfd shife

Fill in the blanks in the following two explanations with the help of the words given

in the box :

(31) 3TgAT T T AT U THATAT: |
qrEd IATT=si~ I o STeHg-l SHT: 1|

e
aﬁiﬁf\ (i) B m: (ii) PEANE] (iif) Eﬁ, GIGH (iv) |

Sfer: W’% 3 HIH v) RINICH (vi) |

@) I ISR FBECHa 5 : |

T IO F&d SAThEaeadd |

wraef:

AP Gy S A ESAM gy THHS B I WEfd |

TG R () 31 S T ST |7y et fowd 3 et

(v) ﬂ'ﬁ-ﬁ, gﬁ NAT: H (Vl) Eﬁﬁ% |
AL

‘éi'{:lﬁ, Tﬁﬁ'l'ﬂ'i, ‘é@'@, ﬁ%, T%?‘IT:, gﬁ, ﬁ'u'h'ﬁ[, ST,
JATCH:, JHTUTEUYT, AT, STIEN: |

Frenferiada: vettepat: Stz fereermfd $ed | Vi x 6=3
Frrrferfaa SR veitei] 35 sret & o < <61 9f i |
Fill in the blanks in the following prose-order-renderings of the two verses.
(37) FI~Tag HATTT Fsifemesd @ |
Ta i Tdaisfed 7 & forea 1 |
HY:

® o) B gy an R | @l osd s T
&, wd % W 7 fore 1)
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(§) Fd A FTHATE T | T Faeca=ayy ITHM |
I qUCATEOT §8: Shedd Tliehed e afia ||
AT

TS | g A 9 sdfE | W@ TG SN %A Sigwe | g At

(i) _g_'ﬁ: ST (iii) Y hedd ?

YT |
ey I T |
Answer as directed.
(31) e foramae = foa | vix4=2
a7 v e g |
Select the subject and the verb.
(i) Teeregumeff ST hicd: TUT |
(i)  IgFHvE: Rl g o= 3 98 |

(¥) formrvome foga | 1x2=2
fersromag gfe |
Select the adjective.
T gfg¥e SHAg AT HHAG |

(@) FrefIRaqugs: {ETg ehard-Taye 1T I 7 1x2=2

freferReaa ufern # T@ifera e ug feheeh fofw Tge & 2
In the following lines for whom are the underlines pronouns are used ?
()  TershHTeRT TS o UM | o SfISE T SATETIH |
(i) ST FRATONT e qE SR v Ry |
@ AenferRaaugiaen 93" qen e sfa uea: wumeis ue fadar fored | 1x2=2
freferRaa ufeaai | & 93 qen Tavr’ §9 Ul o THHT Ug gt ot |
Select and write the synonyms of ‘93" and ‘TG’ from the following lines.
(i) CRISETH crad Mfaerafd |
(ii) « TR T CIHISHATGY: |
@) h: HBHAIT ? vx4=2
I fohd g TR 7
Who is saying to whom ?
() o FrEwmon Teamn ¥ gear gEaseniy e |
(i) Tafeaafeaerendiaadsmes 1 Tereueyemia |
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(31)

(%)
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IV' CAREERINDIA

ATARGTAG BT HET: Y ThET: TEET: 94 fere@d |
ffeiaa cr@ehi s forelt wft T T 1 T feTfa |

Write the name of any one work of each of the following poets.
’TIT%[:, H?Igﬁ':, SHTTY:, EFI'I\FTEFH:, T, E"ﬂ%ﬁ?ﬂ - w: |
FUARGTEAHT AGHMT AT forad |

frferRaa wamTaTt % oi@ent & I fafaw |

Write the name of the authors of the following works.

RrersTest: SRR, RIREeaeH, HI=R, JTeTuiieh= |

1x5=5§

1x5=5§

@Ug: ¥ (Section D) 10 + 10 = 20 3TH:

B TIY AcTghll
Metres and Figures of Speech
I 30 |
YT % I AT |
Answer the questions.
() T’ 3 W gl oTeRfE TRl ?
(i) ‘3TETRY’ 3T I T ?
FYNARGTTATIT: T |
Freferfiaa afeararaii 1 9ot i |
Complete the following definitions.
() SdigeEwe_ |
(i) TR
(i) wRBRESAE |
(iv) Wesfes=n_ |
renferfadugse: 7 f% < ?
frfafaa dfeqi # PH-PH T DG & ?
What is the meter in the following lines ?
(i) sregave fefst qearenn feurern am Tmferrs: |
(i) arferaTEf TR fwam |
FAUfRaaa: e S-eg: 3eE fored |
Frafeafaa o o e v B 1 3gE fofgu -
Write the example of any one of the following meters :

(1) FIZY (i1) HGThTT |

11
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1x4=4

1x2=2

1x2=2
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(37) JAfARgaar: FATIHE ICAGHIE AT ALV foT@d | 3
frafefaa o @ foreht e SIsgrerghR 1 Aigrator e fefE |

Write the example and definition of any one of the figures of speech.
(1) Irgoma: (ii) FHhH,

(&) ARG FaeTHHE HATAGHITR AU Il 7 fol@d | 3
Frrferfia & & el o Terteres 31 T T ST forfta |

Define and illustrate any one of the figures of speech :
(i) 39w (ii) rut<=m: |
(@) Ffafgarge: sergsi M | 1x2=2
Frerferfaa ifsert 3§ STereeRR 1 Friw B |
Indicate the figure of speech in the following lines.
() TETe: Wesihd 39 WWIHHTSHM |
(ii)  SIfeRtfc STehd UvSshH STHATAM |
(3) STEIGINATIIE T | 1x2=2
Frrrferfia Rt Tt 1 got Hifvre |
Complete the following definitions of the twe figures of speech.
() TagEseam™ |
(ii) dCEIHAVG 3 |
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